
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

أربع كسور عشرية ، ترتيب العمليات مع أقواس

3 + 6٫1(3٫7 − 6٫5) = (24 ÷ 4 − 4٫8) × 6٫3 =

36(6٫4 + 4٫2) ÷ 6 = (18 ÷ 3 − 5٫9) × 5٫2 =

(4 ÷ 2 + 2٫8) × 3٫9 = (12 ÷ 6 + 5٫5) × 6٫5 =

(2٫3 + 3٫5) × 5٫6 − 3٫1 = (5٫1 + 5٫6) × 5٫2 − 3٫1 =

(12 ÷ 6 + 6) × 3٫3 = 20(4٫2 − 2٫1) ÷ 4 =
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أربع كسور عشرية ، ترتيب العمليات مع أقواس

3 + 6٫1(3٫7 − 6٫5) = −14.08 (24 ÷ 4 − 4٫8) × 6٫3 = 7.56

36(6٫4 + 4٫2) ÷ 6 = 63.6 (18 ÷ 3 − 5٫9) × 5٫2 = 0.52

(4 ÷ 2 + 2٫8) × 3٫9 = 18.72 (12 ÷ 6 + 5٫5) × 6٫5 = 48.75

(2٫3 + 3٫5) × 5٫6 − 3٫1 = 29.38 (5٫1 + 5٫6) × 5٫2 − 3٫1 = 52.54

(12 ÷ 6 + 6) × 3٫3 = 26.4 20(4٫2 − 2٫1) ÷ 4 = 10.5
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